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Answer all questions in this section. Write your answers in the spaces provided in this question-answer
book. '

1. A table is created with the following SQL command to store the subject scores of Chemistry (CHEM),
Biology (B10) and Computer Studies (CS) of a class of students. REG_NO and EN_NAME represent the
registration number and name of a student respectively.

CREATE TABLE 4D (
REG_NO CHAR(6),
EN_NAME CHAR(30),
CHEM INTEGER,

BIO INTEGER,
CS INTEGER )

(a) Modify the above SQL command so that two records with the same registration number cannot be
input into 4D.

(1 mark)
(b) Write an SQL command to input the following record into 4D.
Registration number:  S03108
Name: Fok Chi Yuen
Chemistry: 73
Computer Studies: 88
(1 mark)

(c) Because of a modification in the examination paper of Chemistry, all students will be awarded two
additional scores. Write an SQL command to increase the value of CHEM by 2 in each record.

(1 mark)
(d) Describe the purpose of the following SQL command:

DELETE FROM 4D WHERE LEN(TRIM(EN NAME)) = 0

(1 mark)
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Alan types in the following passage using a word processor:

Department of Computer Science

1. Mr Lee and John are working in a 2. Mr Lee and John both specialize in
University. Mr Lee is a professor while
John is a research assistant. They have computer organization, especially CPU
been working together for more than two
years. design.

(a) Other than margin and font, give four different formatting features that he may use.

{1 )
3) @ 0000

(2 marks)
(b) Alan types another passage and one of the sentences is shown below:
‘His friend told John that this was his thesis.’

He wants to use the search and replace function in the word processor to change all the words ‘his’
into ‘her’ in the whole passage.

(i) Can he make the change by searching ‘is’ and replacing it with ‘er’?  Justify your answer.

—_——————
———————— e ———

(i) Describe how he can use the search and replace function to make the change effectively and
efficiently.

_—
(3 marks)

(c) Part of Alan’s passage describing John Lee and John Woo is shown in the following box:

Mr Lee and John are working in ABC University. Mr Lee is a professor while John is a

research assistant.  They have been working together for more than two years.

Now Alan wants to make some changes in the passage:
e change ‘Mr Lee’ into ‘John Lee’
¢ change ‘John’ into ‘John Woo’

Describe briefly how Alan can do it by only using the search and replace function.

(2 marks)
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The interconnection of computers in a fast food shop is shown in the following simple diagram.
Customers order food at the cashier. Tickets and their duplicates are printed at the same time. The
customers can then collect the food at different sections of the food counter by presenting the tickets.
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(a) For the networking setup drawn in the diagram, give two kinds of networking devices that you may
use in Connect Box A. Also, other than cost, state one difference between them.

(3 marks)

(b) Printers are attached to the cashiers for printing tickets. What kind of printer should be used?
Justify your answer. ’

(1 mark)




[image: image4.png](c) The cook in the kitchen enters some data occasionally. Other than a keyboard and a mouse, suggest
a better input device for the cook. Justify your answer.
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(2 marks)

(d) Will packaged software or custom-made software be more suitable for this fast food shop? Give one
advantage and one disadvantage of your choice.
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(2 marks)




[image: image5.png]David is a secondary school student. His school provides a web page hosting service for students to
upload their web pages. David has uploaded his web pages with the following structure:

index. html left. html first. html disadv. html

photo.jpg adv.html

A segment of his homepage (index.html) with frames is shown below:

@ hyperlink to an external web site Welcome to David's Web Site

@ hyperlink to adv.html photo.jpg

® hyperlink to disadv.html
'Advantages

@ hyperlink to index.html
Disadvantages

Home

® hyperlink
to the top
of this page

(a) When David browses his homepage in the school, he finds that the photo cannot be displayed. What

mistake may he have made?

e
(1 mark)




[image: image6.png](b) The school’s web page hosting service stops right after David has successfully browsed his homepage
in the school. What will happen if David clicks on the five hyperlinks of his homepage? Explain
your answers,
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(5 marks)

Ada and Betty use the same scanner to scan the same photo separately and store the images into files.
(a) They find that the file sizes are different. Give three possible reasons.

)

S
-

(3 marks)

(b) The size of Ada’s file is much smaller than that of Betty’s. Whose file will you use for web page
design? = Justify your answer.

T e ————

» (1 mark)

(c) A scanner can convert non-digital pictures into digital images. Give another input device with a
similar function.

(1 mark)




[image: image7.png]Tom uses a certain operating system in his computer. The operating system provides different kinds of
file attributes as follows:

Read only, Archive, Hidden, Encrypted, Compressed, Indexed

(a) Tom wants to keep a file safe and prevent it from being erased accidentally.

(i) Can he apply ‘Read only’ to the file to do so? Explain briefly.

e

(ii) Can he apply ‘Archive’ to the file to do so? Explain briefly.

(2 marks)
(b) For security reasons, Tom wants to protect some files from being read by other users.
(i) Can he apply ‘Hidden’ to those files to do so? Explain briefly.
(i) Can he apply ‘Encrypted’ to those files to do so? Explain briefly.
(2 marks)

(¢) Tom has received two files through email from his friend. In order to save storage space, he applies
‘Compressed’ to the files. However, he finds that there is only a little change in one file size while
there is a significant change in the other file. Explain briefly why this happens.

(1 mark)

(d) Explain briefly how ‘Indexed’ can help Tom to manage files.

(1 mark)




[image: image8.png]I

Below are two database files, DB1 and DB2, where the first row indicates the field names.

Database file DB2

Englisnh

(a) Apply equi-joinon DB1 and DB2, and write the result in the space provided.

(2 marks)

(b) Apply full outer joinon DB1 and DB2, and write the result in the space provided.

(2 marks)

END OF SECTION A




